Trig Honors

1.1 Not : .
bayz |1 Distance - Rate -Time Ward Problems
Strategy for Solving a Word Problem: _ _ _ _
Distance = rate x time [luantity = rate x time
d= Smi _LOWYS Q= Gahaco@-‘i,?"/s
I Read the problem closely hf
2. Use avariable to represent unknown quantities
: - colates
3. Draw a Diagram (if it helps you!) d = 99mules @ = 35 cheoco
4. Write an equation that relates the quantities
a. dolve and make sure your answer makes sense
Let's Stant Basce:
Q@=vrt
1. You are eating oreos at a rate of 5 oreos per hour for (O SoveosS . 8 l‘}/s = "t’ﬂ oreos
8 hours. How many oreos did you eat? M
= . 8lhrs
2. You have been on a boat for 8 hours and have traveled 56 miles. d=vt Semi= v YA X4
How fast if your boat going? r=Twm

3. You are biking for 30 miles at a rate of 8 miles per hour. How A=t

long have you been biking? ™ BO%i = G i . £ 'L_Inr
g?{;' hr Emi
Let's take it up a Notch t= _382 = 3.35hr

4. Mary is painting the rooms of her new house before she moves in. It takes her about 4 hours to paint one room.
Her friend Kevin is going to help and it takes him about 3.5 hours to paint one room. Her house has 8 rooms so
how long will it take them to finish painting?
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Lo 1443 howrs



5. Mark and his brother David are fighting over a top airplane while playing in their yard. Mark grabs the plane and
takes off running at a rate of 7.5 miles per hour. One minute after Mark starts running, David starts to chase him at
arate of 9mph. How long will it take David to reach Mark and how far will they have run?
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6. Heather rows a boat upstream then turns around and rows back downstream to her starting point. It takes her

five total minutes to do this. The current is moving at a rate of 3 meters per second and Heather can paddle ata
rate of 7 meters per second. How far down the river did she go before turning around?

=rt
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7. James is also rowing a boat and he can row 320 meters against the current in the same amount of time it takes
him to row 1120 meters with the current. James rows 9 meters per second. How fast is the current moving?

d=rbt x= rate of f“m/t CLUE:

= i same amownt of time*

r l;- 0( S&fﬁmci =

pinst | q-x | 320 320 20 - 122
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x=5 The curvent is moving
Smls



8. You are on a plane ride northbound into the wind and it take 4 hours to fly to its destination. The flight home,
with the wind takes 3 hours and 18 min. The wind speed is 40mph. What is the speed of the plane (without any

wind).
d=rt x = speed of plane
U (x-tk0) =3.2 (x +10)
r b o( :_(x’[bo:a.ax-rIBl
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AMORE FOR PRACTICE:

9. Sue can paint a house by herself in 12 days. When Clyde helps, it takes only 4 days. How long would it take
Clyde to paint the house by himself?
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kﬁ::% sue | 17 4 S ) ”@"* e ')
%
ER RN 12 =5
E"‘I“[E X \ \ * 12 = 2x
=6
H would tfe Olyde
b dougs by mSelf.

10. Two painters working together can paint a house in 3 hours. One painter can paint the same house by himself

in 8 hours. How long would it take the 2nd painter to paint the house, working alone?
A
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11. You are on a boat that travels 6 miles per hour upstream and 10 miles per hour downstream. You are on the
boat five hours but cannot remember when the boat went halfway and turned around. Find the time it took the
boat to go upstream and how far you traveled upstream.

v ' + | A bx=10[5-x)
by =50-10¥
pstveam b X bX lbx = 5D
x=3-125 howrs
downstveam (0 5-x \ 10 (5-x) d =bx
| | H d=6(3.125)
d = 18.1S miles

W took you 3.125 howrs tv go wpshream 18Wm

12. You are on a boat that goes 91 miles downstream in 7 hours but requires 12 hours to go 84 miles upstream.
What is the speed of the boat in still water and what is the speed of the current?
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